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( +a b ) ( +c d ) = +ac ad + bc bd Zusammenfassung
( 2z 3y ) ( x 4y ) = 222 8y +  3ay 1292 222 — 5y — 1292
( 5a 2 ) ( 4 a ) - —20a 5a? ~ 8 2 5a2 — 18a — 8

( T 7 ) ( 6 x ) = 6x x2 + 42 Tx —x? 4 —x 442

( -1 2 ) ( a 5 ) = —a 5 + 2 10a 22 +9a — 5

( 10 x ) ( 2z 5 ) = 20z 50 22 52 —222 1 25z — 50
( - 2 ) ( 4z 11 ) = —4g? 11z + S 22 —4a? + 19z — 22
( 5u 9 )( % 0,5 ) — 10w 2.5u + 18 45

( 0.1z 8 ) ( _5 3 ) - 0522 0,32 £ 40z 24 —0,52 + 40,3% — 24
( 6 3 ) ( 8 7 ) = 4822 42z S 21 4822 — 662 + 21

( z 3y ) ( —y z ) = —zy 22 - 3y? 3yz 2% — 4yz — 3y?

( om 1 ) ( on 1 ) = 4mn om + on 1

Das war gar nicht schwierigD
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